asym_atll

asym_atrl

asym_atl2

asym_atr2

run6376 000 r

- —|eot -
15000 — 15000
- —701 - e
10000 — 10000
- —gor -
- - 400
5000 — 5000
n —5ir -
of o m 0c
- . 400 -
5000 | -5000
- 300 - 201
10000 | 10000
B 200 -
15000 | 15000 100
- m 100 : -
20000 = 20000 u
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII I} _IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ﬂ
-100 -B0 -60 -40 -20 O 20 40 60 80 30 -20 <10 0 10 20 30
diff_bpmXum diff_bpmdaYium
! . [bf l
= I n
C - —{45¢
15000 |- — 80 15000 |-
- - —lanc
10000 — _ 10000
- o 50 - —{a5¢
n - m
5000 ‘or 5000
C - |
ofF of
i a0c C N
-5000 - ~5000 -
- 20( -
10000 | 10000
: - § § 10
- 100 -
15000 : 15000 : . 50
SRR AN . Lol il e L | | | |
| N I T T A T N N N T N N T T I I O A A | | N 1 I T T 1 T I N 1 I T T N I T I I A v A I |
20000, 080 80 40 -20 © 20 40 60 &80 20000 =050 10 o 10 20 30 0
difi _bpm1Xum difi_bpmda¥ium
| [ |
40000 40000 —400
= _5[:'[ =
- - —a5(
20000 - 20000 —
i —a0( i —{a0c
o a0 o
- i
20000 [~ - 200 20000 —
i - 100
40000 B et 40000 B
i u i 50
| | [ |
coa e b b by b b b b d o HEIEIEEIEEENENEENI NN RN ENE NN ENE NN 0
~100 -B0 -0 -40 -20 O 20 40 60 8D 30 -20 -0 O 10 20 3D
diff_bpm1Xum diff_bpmdaYium
d. d'
: I : I
40000 40000
n n —a5r
N —{=0C C
30000 30000 -
; 5 o
20000 20000
N —40c -
10000 10000 —25¢
N - u
oF 30 o m
10000 10000
- 200 -
20000 - - 20000 — m
30000 o000
C 100 n
- - m
40000 |- 40000 |- - .
E'DI:II:II:I:IIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIII EDDDU:IIIIIIIIIIIIIIIIIIIIIIIIIII

=100 -80 -60 -40 -2 0 40 60 80

egsression-asym at vs

~ PDPI-

! . [bf l
" —{700 C
15000 5 15000 5 o
- —goc -
10000 | 10000 |
- _ - —a0(
5000 0 5000
- - |
o 40 oHl 30(
- = -
-5000 | 300 5000 |
n " 200
10000 - 20 10000 5
15000 | 15000 100
i . 100 . -
20000 u 20000 u
B I 1 11 I L 11 I 1 11 I L1 I L 11 I L1 I L 11 I L1 ﬂ 1 1 I L1 11 I L1 11 I L 111 I L1 11 I L 111 I L1 11 I L 111 I:'
-aa 60 -40 -20 O 20 40 B0 80 30 -20  -10 O 10 20 30 4D
difi_bpmdaX/um difi_bpmdaYium
l- l
: g o : — 501
15000 | 15000 |
- —[o0c -
10000 10000 [t
- u -
N —{40C n u
5000 5000
- - 00
= 300 =
- N
~5000 [~ " 5000 m 20
C 300 C
- N
10000 | 10000
- a 100
- 100 -
15000 | 15000 |
: L] Lol . Lol il : | Lot -| | | |
L1 1 L1l L1 1 L1 1 L1 1 L1 1 L 11 L1 L1 L1 11 L1 11 L1111 L1 11 L1111 L1 11 L1111
20000 -an 60 -40 -20 0 20 40 60 8o O 20000 0~ 20 10 D 0 20 30 4o U
difi_bpmdaX/um difi_bpmdaY/um
N |
—ans
40000 —|s0c 40000 s
i i —a5(
- - |
20000 [~ —[A0r 20000 [~ —ap
i i 35(
m
- - 200
- W 200 i 15[
20000 - - 20000
i m
- - 100
- 100 -
40000 - o 40000 - ] 50
B | [ |
cdlo vt b b b s bee o by a by 0 NENEENIEEEEEEENEREEEE NN NN NEEE o
A0 -B0 -40 -20 0 20 40 6D 8D a0 -20 -10 O 10 20 30 4D
difi_bpmdaX/um difi_bpmdaYium
diff_ diff_ hpméleY
- —120r -
40000 40000 |
- - a5
30000 30000 -
- —lanc -
20000 20000 —2
10000 10000 —{25(
- 30C -
[ - |
oF OF 200
10000 10000
- 200 - 150
20000 " " 20000 (=
- - 100
30000 — 100 30000 -
B N |
- - 50
40000 |- 40000 |- - -
:I I 1 11 I 1 ; | I L1 11 I L1 11 I L 111 I 111 I I 1 11 I I 111 I I 1 11 I
50000 Mo 0o 0

é

I:Z-postpan.png—-

= —
15000 u m l. —{as(
10000 —{30(
5000 -
: =
o -
5000 "
10000
- 100
15000
- m 50
20000 u
[ I 1 1 11 I 1111 I 1 1 11 I 1111 I 1111 I 1 111 I 1 11 ﬂ
150 -100 -50 © 50 100 150
difi_bpm12X/um
-
15000 [~ oo
10000 e,
5000 |
of
-5000 |
10000
15000
N m
E_DUUU_IIIIIIIIIIIIIIIIIIII IIIIIIIIIIIII ﬂ

=180 -100 =50 1] 50 100 150
diff_bpm1 2X/um

diff_bpm12X

e ET
40000 —
i —80
20000 -7
B —{G0r
o L
20000 —
40000 —
] m
vt vrrr b by bvr v brvva b

~150 -100 -50 O 50 100 160
diff_bpm12X/um

diff
40000

30000 = 70C

20000

10000

1]

10000

20000

30000

40000

e b v v bvvna Panaa Faag
0000 -180 =100 =50 1] 50 100 150

diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run6376 000 regression-reg

| —
15000
- —70c
10000 [~
. —60C
5000
- —50(
- " m
o
- 40(
-5000
- 30(
10000
5 20(
15000
- u 10C
i [ |
20000
_III|III|III|III|III|III|III|III|III| D
-100 -B0 -BO -40 -20 O 20 40 60 B0
diff_bpmXum
l-
15000 | S
5000 m
5 n 400
o
. 30(
-5000
200
10000 |
15000 1ot
- m
E_DDDD_III|III|III|III|III|III|III|III|III| D
100 -B0O -60 -40 -20 O 20 40 60 B0
difi _bpm1Xum
difL
15000 [~ —
- —s0c
10000 [~
- —50(
5000 |-
i 40
B | |
b
- 30(
-5000 |
- 20(
10000 |
- 10C
: |
15000
TN TN RN E RN RN EE N AR N RN o
-100 -BO -B0 -40 -20 O 20 40 60 B8O
diff_bpm1Xum
15000 [ —
- —60C
10000 — W
- —50(
5000
- 400
ﬂ_
- 30(
-5000
- u 20(
10000
- 10€
13000 5 v b b b b o boa beaa b |

40 60 80

~5000

10000

15000
|

20000

1 1 | 1111 I 1111 | 1111 | 1 111 | 1 111 | 1 111 | 11 ﬂ
30 20 10 0 10 20 30
diff_bpmda¥ium

15000
10000

2000

=5000

10000

100

15000
|

ol by by s by by byl
20000 =30 =20 =10 0 10 20 30 o

diff_bpmda/um
diff _

15000 —

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIII
|

—45(

10000

—35(

5000

~5000

10000 |
|

EEINEENI NI NN NN AN AN N 0
=30 20 =10 (1] 10 20 an
difi_bom4aYium

15000

=1
IIIIII|IIIIIIIIIIIIIIIIIIIIIIIII

d'
15000

—45(

10000

—35(

5000

=5000

10000

=
_IIIIIIIIIIIIIIIIIIIIIIIIIlIIIII

15000

at vs «

%
=8

=
A

- | —{700
15000
10000 e
5000 —{50(
- m
o 400
-5000 | 30(
10000 —
- 300
- m
15000 — -"
- = 100
[ [ |
20000
B I 1 11 | L 11 | 1 11 | L1 | L 11 | L1 | L 11 | L1 ﬂ
-311: 60 -40 -20 O 20 40 B0 80
difi_bpmdaX/um
l-
E —lgoc
15000 |
- —s0r
10000 |
5000 - m — 400
[ [ |
0 [
B 300
-5000
- 200
10000 |
- 10(
15000 |
- m
E‘DDDD B I L1 1 | L1l | L1 1 | L1 1 | L1 1 | L1 1 | L 11 | L1 ﬂ
80 B0 40 20 0 20 40 60 80
difi_bpmdaX/um
difL
15000 [~ — —l60c
10000 [ —{50¢
5000 —40(
- H |
ﬂ L
- 300
_s5p00
- 200
10000 |-
_ 100
: |
15000 |-
ol b b b b s bea o bv oo by g 0
A0 -B0 -40 -20 0 20 40 6D 8D
difi_bpmdaX/um
d '
15000 [~ —
- —s0c
10000 — ™
. —lanc
5000
oF 00
) B 200
5000 -
10000 [~ .
15000 = | bl

40 60 80

“1ostpa

= 5000

10000

15000

||||.T.|||

E{?DDU

I 1111 | 1111 | 1 111 | 1111 | 1 111 | 1111 | 1 111
T R T —T — 10 20 30 40
diff_bomdeY/um

15000

10000

5000

=5000

10000

15000
|

ol b e s by Loy by g g
20000 =30 =20 =10 o 10 20 30 40

diff_bpmday/um

diff _bpmdeY

10000

||.|T.|||

5000

5000
10000

plovvabvrrr b bvrre bvvva beraa b
—.':'I--I:i| 20 =10 1] 10 20 an 40
difi_bpmdaYium

dj _hpméleY

10000

15000

5000

=5000

10000

15000 —

-30 =20 =10

n p n 2 dlll hﬁm4n3‘1"."urn

S0C

400

300

200

100

1]

500

400

30c

200

100

1]

500

400

100

o

45(

400

a5(

300

25(

200

150

100

| —
15000
- —|a5r
10000
- —anr
5000
- —|o5(
- -
Iy [ ]
C 200
5000 [~ [ 'y
n 150
10000 [~
. 100
15000
- | 50
[ [ |
20000 —
_IlllII|IIII|IIII|IIII|IIII|IIII|III ﬂ
“150 -100 =50 ) 50 100 150
diff_bpm12X/um
l-
B — —35(
15000
- —anr
B |
10000
- —agg
n -
so00 F i
[ [ |
of
~5000
10000
15000 |- - 50
- m
E_DUUU_|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ
_150 -100 50 ) 50 100 150
diff_bpm12X/um
difL
15000 [~ —
N —anr
10000 [
N —o5g
5000 -
. B
b
: [ |
~5000 [~
10000 |-
B B0
15000 - m
AEEENI NI NEEE NN NN RN EEE 0
_150 -100 50 ) 50 100 150
diff_bpm12X/um
difL
I
15000 - .
B — 300
10000 [~
[ —osg
5000
o
- m
~5000 [~
10000
B B0
B [ |
15UUU_I|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ

=180 =100  -50 1] 50 100 150
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

diff_bpm1X

%2/ ndf 22.09 /23

p0 -10.87 £ 17.35

A
p1 53.37 £ 1.66

-:mnnf— _ |{W

_mnnf—

—ﬁi}DDf— }

—EH}DDf—

mnnnf—
:III|III|II-I|III|III|III|III|III|III|I

-100 -80 -60 -40 -20 0 20 40 &0 80

91

iff_bpm1X

goo0 [~ x?/ndt  20.78/23

ﬁﬂDDf— p0 2.701 £ 20.244

sono b pi _67.51 + 1.92

E{?DU; _

_:mnnf— rﬂj‘u

-mnnf— 1

NN N R Ne

=100 -80 -60 -40 =20 O 20 40 o0 BOD

91

iff_bpm1X

15000 — %2 / ndf 31.63 /23
mnnni— PO -10.55 + 56.60
5000 | } p1 -20.14 + 5.40
T

_mnnf—

mnnnf—

15nnnf— ) -

EﬂDDUf—

T N I S AT ST

-100 -80 -60 -40 20 0 20 40 60 80

diff_ bpml1X

%2/ ndf 36.45/ 23

p0 -17.66 + 53.45
o1 121 4 5.1
oF }
: H \

-5000 | {NJ\
10000 — |
15000 [ -
E.I::II::”:":]_lll||||||||-||||| |||||||||I|| |||| |

run6376_000_re'”“’ 2 NS

=

3 %2 / ndf 30.59/ 34
3000 - p0 -5.437 £ 17.612
2000 p1 -7.5311 2.887
1000 [ + l -

o ] WW‘M&M} |

1000 & C | _
~2000 | }
~ap00 |-

; 111 | | |-| | | 1111 | 1111 | 1111 I 1111 I 1111 | 111

=30 =20 =10 0 10 20 30

diff_bpmd4aY

%2/ ndf 39.08 / 34

p0 0.738 + 20.557 {

p1 17.07 £ 3.44

|
T

f
W

[

=2000

=4000

6000

~8000

10000

-I-IIIIIIIIIIIIIIIIIIIIIIII

12000

=30 =20 =10 0 10 20 30

diff_bpmdaY

%2 | ndf 15.7 / 34
pO -1.273 + 54.850
p1 | 460.8 + 9.1 ++#|*r uh
£ IS
10000 f— }H{ {
-l
20000 —

=30 =20 =10 0 10 20 30

diff_bpmdaY

w/ndf  2032/34
p0 1378 £ 52.21 *
o1 4432+ 8.6 . h +
T R
10000 f— “M +f+t|+“* {
znnnnf— - |
30000 f—

40000

sréssion asym at vs diff b

diff_bpmdeX

%2/ ndf 20.08 / 25

pO -8.865 £ 17.325

p1 52.96 + 1.65
- e
2000 | _ }«{h
~4000 |-
~6000 [
~8000 [
1.DDDD:|||||||||||||I||||||||||||||||||||

-80 -60 -40 <20 O 200 40 60 8O

91

iff _bpmdeX

8000

6000

4000

%2/ ndf 30.22 / 25

p0 4.455 + 20.209

2000

=2000

l_
-

“BOO0 T | vy b b b b v s boaa baa |l
—-E-D 60 40 =20 0 20 40 80 BO

iff bpmdeX

=4000

91

|1 p1 -65.87 £ 1.90

15000 — 2/ ndf 19.43 /25
10000 — p0  -6.008 + 56.529
5000 — p1 -2.769 + 5.340
W‘#ﬂw_
5000 f— HH}
10000 f— -
150002— ) {
20000 f—
T T T TN NN RN N

—E-D -60 40 <20 0 20 40 60 8O

diff_bpmdeX

w2indf  21.83/25
PO -17.57 +53.25
p1 136.3 + 5.0 } '
f
o -
-mnnf— t
mnnnf—
150003— *
E‘DDDUiI_llllll |||||||||||||||||||||||
-anu &0

diff_bpmdeY

+2 | ndf 33.58 / 33
4000 p0 -6.295 4+ 17.599
t b1 _8.148 + 2.852

2000

= 2000

=4000

i flny

cer v b b by b b aa g |
30 =20 10 0 10 20 30 40

diff_bpmdeY _

%2 | nof 33.66 /33

pO -0.6516 £ 20.5257

p1 21.05 + 3.36 } |

~2000 |- | h{
_4000 |-
[

= 6000

= 8000

30 =20 10 1] 10 20 a0 40

diff_bpmdeY

¥2 / ndf 35.91 /33

DU 10.66 £ 54.01 -
|.’_':t1 5384+ 89
10000 hw _
-
(1]

20000

e bvr e bvvvr bvrrr b brvrn berra braaa |
~30 20 =10 1] 10 20 an 40

diff_bpmdeY

10000 [
-

%2/ ndf 28.27 / 33
pO -5.385 £ 51.454
p1 514.4 + 8.4 ]‘
|
{qﬂw B
i i

10000

20000

30000

|

-30 =20 -10 1] 10 20 a0 40

-I1f postpan.png

diff_bpm12X

%2/ ndf 43.16/ 44

6000

4000

2000

= 2000

=4000

diff_bpm12X

10000

8000

6000

4000

2000

= 2000

~4000

40000

20000

20000

40000

diff_bpm12X

40000

30000

20000

10000

10000

20000

30000

40000

pO -5.5211 17.444

-2.7112£0.445

S
e

=150 -100 <50 1] 50 100 150

) x* / ndf 44.8 | 44
) p0 2.49 + 19.96
p1 -21.32 + 0.51

.I.

il

B L B L L B B L B I
=

=180 <100 =50 1] 50 100 150

- %2 / ndf 124.7 / 44
L T

L PO 8.567 + 17.289
- i

- p -275.14 0.4
I RN

: A

Do lvvre bvvvr bvrrr brvra v b baa

=180 <100 =50 1] 50 100 150

+

— - %2 / ndf 87.27 / 44
E Jﬁ

3 Y p0 -10.18 + 18.32
3 o1 2592 + 05
E_ *J‘_+ t

=150 -100  -50 1] 50 100 150




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

diff_bpm1X

%2 / ndf 21.34 / 23
p0  -11.82 +17.33 m“
p1 1.605 + 1.661 '
2000 |

=4000

|

-6000

=B0O00 -
Frc b v b b v b b b

-100 -80 -60 -40 -20 0 20 40 &0 80

diff_bpm1X

%2/ ndf 20.29 /23

p0 2 888 + 19.766

p1 0171+ 1.877

mnn:— )

2000 — i
~2000 — | |

-100 -80 -60 -40 20 0 20 40 &0 80

diff_ bpm1X

¥= [ ndf 15.76 123

p0 0.59897 £ 16.4875

p1 0.5981+ 1.5645 |
1000 - _
- l{ | _
iy ”WW{
-1000 |-
-2000 [~ i
FERE NN NERE SN E RNl NENI RENE EERE N N
=100 -B0O -80 40 20 O 20 40 80 BOD
%2/ ndf 2994323

pO -8.707 * 16.684

p1 1.199 £ 1.584
4000

2000

0 | J#HWH*H

-4000

6000 [~

run6376 000 resreéssion r

oression reg

diff_bpmdaY

%2/ ndf 30.13/ 34

pO -8.047 + 17.364

p1 1.593 + 2.850
1000 ! -
4
o I
=1000

=2000

-I-IIIIIIIIIIIIIIIIIIIIIII
|
_ =

~3000 III|IIII|IIII|IIII|IIII|IIII|IIII|III

=30 =20 =10 0 10 20 30

diff_bpmdaY

w2/ ndf 42,457 34 {

po 2615 + 19.760

p1  0.1488 + 3.2977 M
T |+||||'[ IWW&#N |
2000

=4000

~6000

8000

10000

12000

-I-IIIIIIIIIIIIIIIIIIIIIIIII

=30 =20 =10 0 10 20 30

diff_bpmdaY

¥/ ndf 31.75/ 34

p0 6./73 +16.52
pi  1.478+2.739 |
T *W'HW*#}H{{H
ot |
~4000 [~
o000 -
so0of
T v bl v by borr g by o

=30 =20 =10 0 10 20 30

diff_bpmdaY

w2 | ndf 45.09 / 34
po -9.749 + 16.707

p1 0.7668 + 2.7630

=L

|

= 2000

-4000

~6000

~8000

at 'vs diff ‘b

diff_bpmdeX

%2/ ndf 201/ 25
p0 -9.266 +17.311
p1 1.037 + 1.644 ’{ -
LI -wh{lh'} -
i i
2000 _— ‘«
4000 _—
=000 _—

v b b b b b by b |
-E{F -60 40 <20 0 20 40 &0 B8O

diff_bpmdeX

%2/ ndf 29.86/ 25

po 4.205 +19.723

pi 0.1708 + 1.8524

4000
EﬂDDf— )
“f_ Hl{ T }-
-EDDDE— |
-mnn:—
O v by e by b bov s bona by bvaa |l

-80 -60 -40 -20 O 20 40 60 8O

diff_bpmdeX

w2 { ndf 29.88 /25
p0 3.652 + 16.463

pi 0.9596 + 1.5494

)

2000

1000

-

0

WWW

=1000

|

e lvra bvv b bvve bvva bwv s by bawa
-0 -B0 40 =20 (1] 20 40 a0 a0

diff_bpmdeX

12/ ndf 224725

= 2000

pd ~7.986 + 16.667

p1 0.6B68 + 1.5728

4000 F

2000 — } ][|
0 ;_ ]l ﬁﬂ* ++W+++f[|]+ .

~2000

~4000 — _

pm-fit “postpan.

diff_bpmdeY

%2 | ndf 36.76 / 33
p0 -8.414 +17.345 i
p1 0.6397 + 2.8110 }
II}_— { mill t tq W )
2000
4000
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

30 =20 10 1] 10 20 a0 40

diff_bpmdeY

i 2.1' ndf 38.08 /33
6000 [

B p0 0.3238 £ 19.7363
4000 [

i p1 2653 +£3.231
2000 “ |

ﬂ:— | WMM[{\ }ﬂ

-2000 [
— 4000 —
-6000 |-

_|||||||||||||I||||||||||||||||||-|||||||

30 =20 10 1] 10 20 a0 40

diff_bpmdeY

%2/ ndf 24.8 /33

p0 5.828 + 16.520

T £ 2700 -

2000

= 2000

=1 1 1 I 1 1 1 I 1 1 1 I 1 1 1

e bvr e bvvvr bvrrr b brvrn berra braaa |
~30 20 =10 1] 10 20 an 40

diff_bpmdeY

4000 B 72 ndf 2962733
po -139+16.7
2000
| 07708 £ 27139
b ooy

i

=4000

= 6000

=2000 — |
11

-30 =20 -10 1] 10 20 a0 40

| 0) 0 b4

diff_bpm12X

I ¥ | ndf 43.78 | 44
6000 —
I p0 —6.95 + 17.20
4000 —
- pl  —0.07399 + 0.43897
o000 - - } -
S 1
£ H
: H{* v |
-2000 - } | }
4000 — -
jl | | 1111 | 1 111 | 1 111 | 1111 | 1 111 I 1111 | 111

=150 -100 <50 1] 50 100 150

diff_bpm12X

72 | ndf 4417 / 44
po 3.225 + 19.597

p1 0.1213 + 0.5013

=180 <100 =50 1] 50 100 150

diff_bpm12X

12/ ndf 47.85/ 44

p0 8.017 + 16.354

| _
HWWWM ml “*

-
;— i

plovva bvv v v v bv v b b
180 =100 =50 1] 50 100 150

diff_bpm12X

p1 0.3551+ 0.4165

=4000

%% | ndf 66.05 / 44
4000 p0 ~12.63 + 16.53

p1 —0.03335 + 0.42063
2000

| :

=150 -100  -50 1] 50 100 150

= 2000

~4000

1 J} e ”“#ﬂw




asym_atll

asym_atrl

asym_atl2

asym_atr2

run6376 000 r

15000

10000

5000

=5000

10000

15000

20000

~
=
=

=80 =60 =40 =20 0O 20 40 80 BO
diff_bpmXum

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

FO000 II|III|III|III|III|III|I.II|III|III|

=100 -B0 -60 -40 -20 O 20 40 60 BO
difi _bpm1Xum

40000 —

20000 —

20000 —

40000 |- AR

-100 -0 -60 -40 -20 O 20 40 680 BO
diff_bpm1Xum

40000

30000

20000

10000

1]

10000

20000

30000

40000

EDDDnllllllllllllllllII|III|III|III|III|

=100 -80 -60 -40 -2 o 20 40 60 80

15000

10000

5000

~5000

10000

15000

20000

30 20 10 0 10 20 30
diff_bpmda¥ium

15000

10000

2000

=5000

10000

15000

=
IIIIIIIIIIIIII|IIIIIIIII|IIII|IIII|IIII

20000 30 =20 10 0 10 20 a0

diff_bpmda/um

40000 —

20000

20000

40000 —

30 <20 10 0 10 20 a0

diff_bpmda¥ium
ifL

40000
30000
20000
10000

1]
10000
20000

30000

40000

eoression-asym at vs diff b

15000

10000

5000

~5000

10000

15000

20000

| 1 11 | 111 | 1 11 | 11 1 | 111 | 11 1 | 1 11 | 1 11
80 -0 -40 -20 O 20 40 60 B0
diff _bpmdeX/um

15000

10000

2000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

| |||||||||||||||||||||.||||||||||
20000 -80 -B0 40 <20 0 20 40 60 B0

diff_bpmdaX/um

40000 —

20000 —

20000 —

40000

_|| prr v bvvr brrr v v b o lr g
80 -0 40 =20 1] 20 40 el B0
diff_bpm4aX/um

40000

30000

20000

10000

0

10000

20000

30000

40000

EDDDUIIIIIlIII|III|III|III|III|III|III

m-scat Dostp

15000

10000

5000

= 5000

10000

15000

20000

30 <20 10 1] 10 20 a0 40

diff_bomdeY/um

15000
10000

5000

=5000
10000

15000

20000

30 =20 10 1] 10 20 a0 40

diff_bpmday/um

40000 —

20000

20000

40000 —

30 <20 10 1] 10 20 a0 40

diff_bpmdaY/um

40000

30000

20000

10000

1]

10000

20000

30000

40000

—IIIIIIIIIIIIIIJIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

20000

an.png -

-30 =20 =10 1] 10 20 30 40

15000

10000

S000

~5000

10000

15000

20000

1 | 1 111 | 1111 | 1 111 | 1111 | 1111 | I | | 1 11
~150 -100 -50 O 50 100 150
diff_bpm12X/um

15000

10000

2000

=5000

10000

15000

=
IIIIIIIIIIIIII|IIIIIIIII|IIII|IIII|IIII

|||||||||||||||||||||i|||||||||||||
20000 =180 =100 =50 o 50 100 150

diff_bpm1 2X/um
jij[flfi___

20000

20000

40000 —

vt vrrr b by bvr v brvva b
180 =100 -850 1] 50 100 150
difi_bom12X/um

40000

30000

20000

10000

10000

20000

30000

40000

e b v v bvvna Panaa Faag
0000 -180 =100 =50 1] 50 100 150

diff_bpm12X/um



reg_asym_atll

reg_asym_atr

reg_asym_atl2

reg_asym_atr2

15000

10000

5000

=5000

10000

15000

20000

III|III|III|III|III|III|III|III|III|
=80 =60 =40 =20 0O 20 40 80 BO
diff_bpmXum

~
=
=

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

II|III|III|III|III|III|III|III|III|
20000 100 -80 -60 -40 -20 O 20 40 60 BO
difi _bpm1Xum

15000 — —

10000 —

5000

=5000 —

10000 —

15000

ool b v bvvn b b ra b aabaaa |l

=100 B0 -60 40 =20 1] 20 40 80 2
diff_bpm1Xum

15000 —

10000

5000

=5000 —

10000 —

15000

40 60 80

run6376 000 resréssion-reg

15000

10000

2000

~5000

10000

15000

20000

30 20 10 0 10 20 30
diff_bpmda¥ium

15000

10000

2000

=5000

10000

15000

=
IIIIIIIIIIIIII|IIIIIIIII|IIII|IIII|IIII

20000 30 =20 10 0 10 20 a0

diff_bpmda/um

15000

10000 —

5000

5000 —

10000

15000 —
EEINEENI NI NN NN AN AN N

30 -20 10 0 10 20 30
diff_bpmda¥ium

15000 —

10000

5000

=5000

10000 —

15000 [~

at vs

bp

15000

10000

2000

~5000

10000

15000

20000

1 11 | 111 | 1 11 | 11 1 | 111 | 11 1 | 1 11 | 1
80 -0 -40 -20 O 20 40 60 B0
diff _bpmdeX/um

15000

10000

2000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

A TN I I N I A B O A I
20000 -80 -B0 40 <20 0 20 40 60 B0

diff_bpmdaX/um

10000 —

5000

5000 —

10000

15000 —

ol b vrr v bvv o bvr by s b aa b
80 -0 40 =20 1] 20 40 el B0

diff_bpmdeX/um
ifL

15000 —

10000 — -

5000

=5000 —

10000 —

15000 51, 1

80 60 40

m-sca

t_pﬁfs*?tpan.png

15000

10000

5000

= 5000

10000

15000

20000

| I 1111 | 1111 | 1 111 | 1111 | 1 111 | 1111 | 1 111
30 -20 10 O 10 20 30 40
diff_bomdeY/um

15000

10000

5000

=5000

10000

15000

=
—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

oo by by by b g by laaag
30 =20 10 0 10 20 30 40
diff_bpmdea¥ium

20000

15000 —

10000 —

5000 —

=5000 —

10000

15000

Pl vt bvvv by bvvra bvran b o

=30 =20 =10 0 10 20 a0 40
difi_bpmdaYium

15000 —

10000

5000

=5000

10000 —

15000 —

Lol v v b s b by g
30 <20 10 1] 10 20 a0 40
diff_bpmdey/um

15000

10000

2000

~5000

10000

15000

20000

| 1 111 | 1111 | 1 111 | 1111 | 1111 | I | | 1 11
~150 -100 -50 O 50 100 150
diff_bpm12X/um

15000

10000

2000

=5000

10000

15000

=
IIIIIIIIIIIIII|IIIIIIIII|IIII|IIII|IIII

Lo ol v boav s by b bavyna by
-150 100 =50 0 50 100 150
diff_bpm12Xium

20000

15000

10000 —

5000 —

5000 —

10000 —

15000

plvvoa b vvv e bv v b bvr o bovra b

=150 =100 =50 0 50 100 180
difi_bom12X/um

15000 —

10000 —

5000 —

=5000

10000 —

15000 —

e b v v bvvna Panaa Paag
-180 =100 =50 1] 50 100 150
diff_bpm12X/um




